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4)

=

k=]

PS
1,751

1,751

15,840
15,840

A1,751
A1,751

5,563,566

(&1

3,000
3,000
9,500
9,500

6,346,759

el
Ol &t

3,000
4,480
15,840
15,840
14,400
3,000
3,000
3,000
11,910,325
3,615
3,615
3,615
7,749
7,749
2,421

11,364

Ojl st

*128

3,000,000

200,000&* 155
8,000 721x804
200,000 +621+ 128
60,2403 *121+60

)

1(81A) -

(o]
Tl

+
o

. C
()

OO0 (A
OU 2 At
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04 JIZHMI22 X S84

01 204l
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oK
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0
o
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b
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U{0 HiD
ol 040
o

K SIHEALS

1,883,930
1,883,930
1,880,000

3,860,395
3,860,395
3,850,000

2,021
400

200

200
5,328
5,744,325
150,000
300,000
300,000
250,000
250,000
150,000
130,000
200,000
150,000
300,000

5,744,325
5,730,000
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4,000 *500H1

4,000 *500H1
8,000&*1821%374]

150,000,000
300,000,000&
300,000,000&
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SA:

OI™HA D

=

Ha: Fo| e
SE HIPAEIEINE (Sr9l: &)
SN - FE - SR(3]H) - NRAR - BaS il &k b HimE==1
O=N o1g0I2 falcz HEZAF
100,000,0002! 100,000
OBY0tE RE|YTZ IHEBA
200,000,00024 200,000
O4R NEDIE SZHTHTA
300,000,000 300,000
OR2U0IS TISHBZ THAKY
340,000,000 340,000
OLIB0IS QAT & MEIHZBA
100,000,00024 100,000
O2I0L2 NIEBHIBA 100,000, 00024 100,000
OStd 2010tE NYTZ ATHTA
500,000,000 500,000
OSHe Ads|Z U =IED FHEHIAY
180,000, 00024 180,000
OKlgH | 0tE NYTZ HTHTA
300,000,00024 300,000
O=S0HS 92 SHTHTAL 150,000, 00024 150,000
ODAOIS TISHBZ THTA}
300,000,000 300,000
O=&0t= MUTZ OtABEEIA}
20,000,002 20,000
OLIS HAIDIE BSOISAIL(CISHTE) &x|
A 100,000,00024 100,000
OLBD UIILBA ZASS L MAILTHES
70,000,0002! 70,000
OJlEi0le M2 HEETAL 70,000,002 70,000
OU20I2 TISH BF TLAIY
20,000,0002! 20,000
ORYOIS TISH BE THAY
400,000,00024 400,000
O2N0LS A4 U SHTHBAL
200,000,00024 200,000
03 Al THH] 14,325 0,3% 3,930
OATRDFOILAAR (BAIR) AILSHH|
5,730,000, 00024+0.25% 14,325
NEESIPEN 1,319,734 270,000 1,049,734
401 Al2HI 2 =ChY| 1,319,734 270,000 1,049,734
01 Al 1,315,000 268,056 1,046,944
ORHAIOIE 92 U Q2IBE2 FHIBA
90,000,0002! 90,000
OLIEOIS BIXEX % SREETA
85,000,002 85,000
OS30te Y=s2 THIA 25,000,008 25,000
ORE SBUX & SZEHTA
70,000,0002! 70,000
OLH4=(ZIHa1) 9 FHIBAL 50,000,00024 50,000
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S tEAd
M For JHet
Chel: XISDHZ ALY (=CE-EN
SA - B - S9I(E) - RAY - BaS ol b HIDZS2
O2= UWS0t= OtAZ AT SA
150,000,000 150,000
OtD|0te U=sHEE Zd3At 40,000,000 40,000
OZMOIE ot SZEEZSAL
30,000,002 30,000
020 ISR+ U YEE2TED
At 55,000,000& 55,000
OXIB0IE REB SZHTHTAL
50,000,000 50,000
OXlditE 22 FHISAL 40,000,000 40,000
OgsiilE GAIZEelZE S2EHSA
80,000,000& 80,000
OYUE0IE =S SZEESA
30,000,000& 30,000
O2IH0t= MEZHISAL 40,000,000 40,000
Os2Z02 Y9+X s=2ZE3AF 30,000,000 30,000
OR10tS oH OtAEBSIMRI IS AL
70,000,000 70,000
O==0t2 K sS2ESAE 35,000,000 35,000
Odsills STl SZTEESA
60,000,000 60,000
O2=(US)0t= =2 ZHISA
50,000,000 50,000
Ogsiis &Ml sSZ2EESA
80,000,000 80,000
OZ28 sZ2ELISA 30,000,000 30,000
OHXI0IS 2t OLARSMNRI|IZA
50,000,000 50,000
O&Z0l2 Y0ts sEZESAL - 60,000,000 60,000
OLDI0tE =2 ZHISA 15,000,000 15,000
03 Al 20 4,734 1,944 2,790
OMEZOIZRIAR ALRH]
1,315,000,000& 0. 36% 4,734
e F=0l=2AL 538,371 180,000 358,371
401 AIZHIZ R0 538,371 180,000 358,371
01 Al&HI 535,000 178,704 356,296
Oz JHISA 40,000,000 40,000
Ot ==2EHISA 30,000,000& 30,000
Oatd =2 HISA 35,000,000& 35,000
Oli= ot & Hi==2HEISAt 30,000,000& 30,000
Ol s= & Sti+== JUISA
30,000,000& 30,000
OZEx0t= OtAZZHIA 70,000,000& 70,000
OZ= MEZHISA 50,000,000& 50,000
OLIE S22 ZHISA 35,000,000& 35,000
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SN orMAHAAT}

R AL LN

M For JHet

Chel: XISDHZ ALY (=CE-EN
SA - B - S9I(E) - RAY - BaS ol b HIDZS2
OANE =Z2EHISA 30,000,000 30,000
OH4 =2 U BHI+2 FHIBAl
30,000,000& 30,000
OHE s=2&HISA 35,000,000 35,000
SAH OtAE ZEHIAL 60,000,000& 60,000
OXE OtAZE ZESA 60,000,000 60,000
03 Al =20 3,371 1,296 2,075
ORHer FOISRAAY ALY
535,000,000 +0.63% 3,371
LEF0U=RAIY 216,548 180,000 36,548
401 A& LS| 216,548 180,000 3,548
01 Al&HI 215,000 178,704 36,296
O2F0t=0t OtAZEEZAL 50,000,000 50,000
OZE JHil= =2 &XISAt 20,000,000& 20,000
O2E LTS == ZHISAM 25,000,000 25,000
O2M0tS o EH| & EZHSIALY
30,000,000 30,000
OtDI0tEe MU= EHISAH 20,000,000 20,000
OUE DAE == ZHISAt 20,000,000& 20,000
OB E0t= MEZHISAL 20,000,000& 20,000
OSE A= SZEYSA 30,000,000& 30,000
03 Al 20 1,548 1,296 252
ORSF0ISIAR! ALY
215,000,000 +0.72% 1,548
HEFOI=RALS 191,368 225,000 A33,632
401 A& |2 S| 191,368 225,000 133,632
01 Al&HI 190,000 223,380 A\33,380
O2UIS S2HERTA 40,000,000% 40,000
O NXTZBISA 35,000,000& 35,000
Oul OHX|= MEEHISAH 30,000,000 30,000
OFUiI=otd s=E2ZSAt 30,000,000 30,000
=2 SSEIZA 25,000,000& 25,000
O7JI0tE 2t OFAZTHEESA
30,000,000 30,000
03 Al 20 1,368 1,620 N252
OMZEF0ISRIAIY AL
190,000,000 +0.72% 1,368
SAFU=RAY 483,024 225,000 258,024
401 AIZHIZ R0 483,024 225,000 258,024
01 Al&HI 480,000 223,380 256,620
O=AIE JHEE ST AHEEZSA
30,000,000& 30,000
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SA:

OI™HA D

=

HE: Fox| L
SEEIPAE B EE (ool &)
SA - BB BRI(3) - IRAY - BES ofles e HIDZ
401 AIEHIZ R0 583,654 270,000 313,654
01 AlZH| 580,000 268,006 311,944
Ousti+=2 SAMIE & U2 OtAZH
M| ZBAH 80,000,000& 80,000
OgAl SZ2EESA 30,000,000& 30,000
Oicled S22 ZHSA 20,000,000& 20,000
O FIISOI2)OIARHM S| U B2
HISAH 55,000,000& 55,000
OL? S2EISA 30,000,000& 30,000
OUR0IS 2t OLARSMNLI|IZAL
30,000,000& 30,000
O=0ol sZ2EISA 20,000,000& 20,000
OSE(22) SZ2EYSA 25,000,000& 25,000
OFUSZ OtAZTM LI |SA 35,000,000& 35,000
ONEOIE =2 OtABTMRIISA
30,000,000& 30,000
OOFES2 OLAZHMDIIZAE 30,000,002 30,000
OiY=Z OFABHMNSIIZA 30,000,008 30,000
OLF(FOUS)TYEZE OtABTN RIS AL
30,000,000& 30,000
O2E SZEEHZAM 30,000,000& 30,000
Ogttite g XE83At 25,000,000& 25,000
OFH=SZ ZEHZAM 80,000,000& 80,000
03 Al 20 3,654 1,944 1,710
OSHEZQIRRIAIR AR
580,000,000+0.63% 3,654
IR0l RIALY 644,608 270,000 374,608
401 AIZHIZL R0 644,608 270,000 374,608
01 AlIZH| 640,000 268,006 371,944
OotE dYUZ OtAZLEZAL 35,000,000& 35,000
OBH &UZ OtAZLEZAL 35,000,000& 35,000
O+ dYUZ OtAZLEZAL 50,000,000& 50,000
Otlotlts sZRESA 30,000,000& 30,000
Osgotd OtAZZEIAL 20,000,000& 20,000
OFHE SZEEZAM 30,000,000& 30,000
Oa0tE 22 FHISAL 30,000,000& 30,000
O SZIEEHZA 30,000,000& 30,000
O=Z SZEEZAM 50,000,000& 50,000
Ooli=s s2Z&HSA 30,000,000& 30,000
OYs sZIMHESA 40,000,000& 40,000
OLDI0tE ot HEEHIAL 30,000,000& 30,000
O=8 SZEEHZAM 30,000,000& 30,000
OotS0ts A2 EHISAL 30,000,000& 30,000
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SN oREtE D}
Ha: F|oHX| OHe
Shol: XISHL ALY EEE R
S - B - SRI(3) - HISAR - BaS Ol b HIDE2
Ol o1 OFAZZ A ZAL 30,000,002 30,000
OBIHYS S2EZTA 20,000,0002! 20,000
OAFOIS 52 BHIBA 40,000,0002! 40,000
OFUMAT § 52 TRHIA 30,000,008 30,000
OQIDOIS AL MXIBA 50,000,000 50,000
03 Al& ST 4,608 1,944 2,664
OllOERIZ AN AlSRCHY|
640,000,00024%0.72% 4,608
MHI TSR 221,584 180,000 41,584
401 AIEBI L2 TH| 221,584 180,000 41,584
01 Al 220,000 178,704 41,29
ODNEB SREZTA 30,000,0002¢ 30,000
OAIOH A2 SHZTAL 50,000,0002! 50,000
002 UZ METHIBA 30,000,0002! 30,000
Ostal HIEZHIZA 30,000,0002¢ 30,000
002 OB NIEFHIBAL 30,000,002 30,000
Otts S2BH U H+ZLXISA
30,000,0002! 30,000
OUY 2B S2EZTA 20,000,0002! 20,000
03 Al& ST 1,584 1,29 288
OMBIZFYIHRAY ALY
220,000,00024%0.72% 1,584
ASZQI=RAS 553,465 225,000 328,465
401 AIEBI L2 TH| 563,465 225,000 328,465
01 A& 550,000 223,380 326,620
OAHOIS S2EZTA 100,000, 00024 100,000
OEIAOIS HMEZHIZA 100,000, 00024 100,000
OLHOIE CREYITA 60,000,0002! 60,000
OO0IROIS OABERBAL 60,000,0002! 60,000
OUOIS OHL OAZEEBAL 60,000,008 60,000
OS0lS IEUZ FHIBAL 50,000,008 50,000
OBHOIS S2EZTA 50,000,0002! 50,000
O220I2 S2EZTA 40,000,00024 40,000
OABOIS S2EZBA 30,000,0002! 30,000
03 Al& ST 3,465 1,620 1,845
OLISTRI=ARS ALY
550,000,0002440..63% 3,465
SRALANY 11,109,054 9,555,997 1,653,057
X 19,000
= 150,000
2 10,940,054
SRALAY 202,594 344,137 ~121,543
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S e Ad
A CZHLAY
S9l: S22AMAR (e &)
SA - BB BRI(3) - IRAY - BES ofles e HIDZ
Al 19,000
= 203,594
22X 64,594 64,137 457
101 2| 7,229 6,212 1,017
04 JIZtMI22NESE s 7,229 6,212 1,017
O WSEAARHIAY| 60,2402 x401x3 7,229
201 Ler=g| 22,125 21,245 880
01 At2t2ld] 10,170 9,290 880
OSgH(=22FH) 8,000 *421x80& 2,560
Oget+SH| 5,370
0=282= FHIY 40,0002 *14L1x2F 1,120
Ol |=H 80,000&+9CH*33 2,160
oIV 2+ 4,000 *400H 1,600
OUIFDI &S A ))F Y 35,000 14% 490
Osgt(=2E+J) 8,0002*1421x204 2,240
02 E=5=24H| 11,955 11,995 0
OXt&E 2| 8,640
OLolh= EH |RJU
1,20021%40 £ 60CH*32] 8,640
OAlIEEHI=Al 3,315
00iIF Il L€+ 8,0002*20S*10CH 1,600
OUIFDI RFTE 1,400&%1.25 ¢ x140H*702] 1,715
202 O 5,760 7,200 1,440
01 =LHALI 5,760 7,200 1,440
Ontl(==2R+8) 120,000 %421 %122 5,760
206 MH=H| 22,700 22,700 0
01 MH=Hl 22,700 22,700 0
O AL OttH—e 3002 +7,0000H 2,100
O A 7 10,000& *700m" 7,000
O&dlithy SerzarY 9,7002*1,000XCH 9,700
OZ35tE +&(30ke/ i) 13,0003 *300 %L CH 3,900
301 et2a= 700 700 0
09 AHAIHIE A4S 700 700 0
Okz=2+d E2ZAIEEH| BAIZ Bluds
50,0002 *14E 700
405 AteHESHI 6,080 6,080 0
01 MR ESFI=HI 6,080 6,080 0
OO0l 7L 480,000 604 2,880
OJIHE +4 600, 0002 *2CH 1,200
C2HNE cHiEFY 8,000&*100H 800
OgtdaA g 24,0002 %502 1,200
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M erdAS
Y C2HEAY
Chol: CRAMAY (Srel: )
= = L=
S - ZE - SI(E) - KISA - BES Ol st e lmE==]
Oel0l2s+9 JHEAS 120,000 80,000 40,000
401 AIEHIZ 2B 120,000 80,000 40,000
01 Al&HI 120,000 80,000 40,000
OHHAZLHLZAHEI0IZESPAHYIAIZ (2IHA
) 120,000, 000& 120,000
SAESSIW HEIOIESHY IHEAIY 38,000 0 38,000
Xl 19,000
= 19,000
401 AIEHIZ 2B 38,000 0 38,000
Xl 19,000
= 19,000
01 Al&HI 38,000 0 38,000
OYdtxSst Hel0l 2379 ALY
38,000,000& 38,000
Xl 19,000
= 19,000
SHEEZZUIAE 4,411,070 2,538,028 1,873,042
= 150,000
= 4,261,070
sHEEZ A 4,111,070 2,238,028 1,873,042
401 AlEHIZ2OHB| 4,111,070 2,238,028 1,873,042
01 Al&HI 4,100,000 2,230,000 1,870,000
OLHE~HBRI =28 T E T AH(L=1.65km)
500,000,000& 500,000
OBEH~-REAUSZE L ETAH(L=1.27km)
600,000,000& 600,000
OuUle|tHBE 2 &S AHL=0.61km)
500,000,000& 500,000
ONUEstE2 SLEIAHL=1.2kn)
800,000,000& 800,000
OMFMEHATEU T2 HHISAHL=0.22km)
200,000,000& 200,000
ORLEEMHAXEU =2 HHISAHL=0.50km)
300,000,000& 300,000
OXELAHA R EU 2 HHISAHL=0.31km)
200,000,000& 200,000
OUZIA RS 2 ST EHZ AHL=0.60km)
300,000,000& 300,000
OS8=E&HISAHL=1.7km) 500,000,000& 500,000
OHZ102S (PARKIEIZY) S2FEISAL
200,000,000& 200,000
03 A& =201 11,070 8,028 3,042
OAIE 20| 4,100,000,000&*0.0027 11,070
SO S 2 IR Z A} 300,000 0 300,000
= 150,000
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S e Ad
M E2ALAY
=2l SHEZZZHIAY (et &J)
S5
SA - HH - S9I(3H) - MIRAY - BES ol S HIDS
= 150,000
401 AIZHIZ R0 300,000 0 300,000
= 150,000
= 150,000
01 Al&HI 300,000 0 300,000
OSt-UUA =2 S L HSAHL=2.5km)
300,000,000 300,000
= 150,000
= 150,000
=AY 2,810,080 4,009,612 1,199,532
= A 2,810,080 2,407,452 402,628
401 AIZHIZ R0 2,810,080 2,407,452 402,628
01 Al&HI 2,800,000 2,400,000 400,000
OFE~AFHAEZ ST H T AHL=1.08km)
900,000,000 900,000
O =283 (FUHBEEZ) ZEHIAHL=2.0km)
200,000,000 200,000
OSMAEXI A2 L H I AHL=0. 17km)
250,000,000 250,000
OZ2&155+E =2 LI AHL=2. 0km)
500,000,000 500,000
ORI E~2 S I A E X SAHAIH )
250,000,000 250,000
O =8S(HAE2H) HEESAHL=2.5km)
200,000,000 200,000
Oz =85 (EE~LH==2t) HEESAHL=2.0km)
150,000,000 150,000
Oz =155 (&E~3AHZ) HEZSAHL=1.5km)
100,000,000 100,000
OZE295 (Lted~2H2t) THEZHSAHL=1.5km)
100,000,000 100,000
O E0S(Sel~AHE2E) &2 SLEIAHL=1.
2km) 150,000,000 150,000
03 Al 20 10,080 7,452 2,628
OAlZ= Y 2,800,000,000&+0.0036 10,080
WENES JIEI=Z A 3,665,310 2,664,220 1,001,000
CRHE Fo=AAY 1,620,814 1,190,000 430,814
401 AIZHIZ R0 1,620,814 1,190,000 430,814
01 Al&HI 1,615,000 1,185,716 429,284
OSYSDE 2B TRDAHL=0. 17kn)
200,000,000 200,000
Odel~-SMA =28 LHSAHL=1.5km)
50,000,000 50,000
O ERa el Y E2 ST EDAHL=0.984kn
) 500,000,000 500,000
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SN QST
HE: c22A8A
9. DIIES JIEEZAY (Sl &2)
= - L5
A - B S9(3) - HRAY - BES il &y b HimE=]
=201 5 (A 42012 E2 BB AHL=2.0k)
200,000, 0002 200,000
OO SOETR (2115 4) HENZRAHL0.4
m) 150,000,002 50,000
ORI TN TE 22 THBAKL=0.65n)
200,000, 0002 200,000
OMZOISE Y2 0tA 2T ETAKL=0.8m)
150,000, 0002 150,000
ONALE2STIHBAHL=0. 1kn)
50,000, 0002 50,000
OABAXIOISTI YT ROABEEBAHL=0.%n
) 30,000, 0002! 30,000
OB EBSH (XA XIT) B2 ZHIZAHL=0.
4km) 40,000, 0002! 40,000
OATHSIRI PHH 2 ZIHBAHL=0. 25kn)
15,000,002 15,000
OIS EZSTHHIZAHL=0. 7kn)
30,000, 0002 30,000
03 Al& R THH| 5.814 4,284 1,530
OAZ=IHH] 1,615,000, 0002+0.0036 5.814
DA 1,100,000 480,000 620,000
401 N8I =Chy| 1,100,000 480,000 620,000
01 A&t 1,100,000 478,500 621,500
emELIWERS 400,000,002 400,000
OSCHA DI ZAHL=10.0n)
300,000,002 300,000
OSTRLDIIHETAHL=10.0m)
300,000,002 300,000
ORZHLTAZ (01 DSHD)
60,000, 0002 60,000
OnPHNEAZ(STHB2NY)
40,000, 0002 40,000
SE R 22 94,4% 714,220 210,276
201 Yer2t| 11,220 1,220 0
02 2Z=2H| 1,220 1,220 0
o=zl ®IIe3 1,220
001210125 RSV HIIR2
400,000 122 4,800
0IES EII23 400,0002!+12% 4,800
OCEE4AAFD ®IIe
45,0002 x35+ 128 1,620
401 A2 =ChY| 913,276 703,000 210,276
01 A&t 910,000 700,000 210,000
ORE, SOEER A0+ 200,000,000 200,000




SA: oREAL D
[ CRALAY
B9l WEIIES JIEI=2AMY (EHel: &)
A - B - S2A(SH) - MFAY - BES O &bl &E& ] ImE=r4
OaED 2L SHECZ AN =4
100,000,000 100,000
OFHT 2 ALY Xt T A 30,000,000 30,000
O HH E 2 A EA4 30,000,000 30,000
OWSAD R UHEHM 30,000,000 30,000
O=28 ZHD| =Y 150,000,000 150,000
OF Z ol & Xl 24> 100,000,000 100,000
OEZAIL2ISZHI 50,000,0002 50,000
Oz zzelg TV RAI2= 20,000,000 20,000
OlISE8X 243 X2 200,000,000 200,000
03 Al& 20| 3,276 3,000 276
OAlZ=0HHI 910,000,00024%0. 36% 3,276
Et S2A 20,000 0 20,000
401 AIZHIL20HY] 20,000 0 20,000
01 Al&H] 20,000 0 20,000
O=N=0EHC2FAZH(HE)EX
20,000,000 20,000
ol Fl 10,922,797 10,515,028 407,769
= 2,750,000
X 940,000
= 845,000
2 6,387,797
Xigrotazte 7,193,265 6,137,018 1,056,247
= 2,750,000
= 845,000
2 3,598,265
SlERNZe2E 302,350 315,941 13,591
101 Q124H] 2,410 2,071 339
04 IRHZZRSE 2,410 2,071 339
Ostgtisgareleiey 60,2402 *402 2,410
201 Let2EH| 25,120 23,470 1,650
01 Ateztelt] 1,920 1,470 450
OS2|(otagR=2) 8,0002x301x804] 1,920
2 3329 23,200 22,000 1,200
OS3SX Al 23,200
ObH==Z &I | ot 2ie | 1,200,00024%52 6,000
OHH==EEIIALER 2,000,000&%52 10,000
02 S MIINER 500,00024* 122 6,000
0SS MIIANES 100,00024* 122 1,200
202 01t 4,320 5,400 A1,080
01 2UH0ibI 4,320 5,400 1,080
OO0lHI(SIe g R43) 120,00024%321x 122 4,320
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SA: QHERAMY

Hu sia A
ool Xigota e (Srel: &)
SA - B S (B) - HIRAY - BYS OflAboH da= HD=2
O o
401 Al&HIKE0HY] 270,500 285,000 A 14,500
01 Al&H| 270,500 285,000 A 14,500
O H ot HIZE| 8,000,000& %1102~ 88,000
ONIEZEHID AL (Z=H) 2,500,000&*550 A~ 137,500
O SHi4+2 SRz (HSA)
3,000,000 50 A 15,000
OZ20UHI=2 AIEE BLZAH 30,000,000 30,000
N PSRN PN des! 190,000 700,000 A510,000
= 95,000
o 95,000
401 Al&HIKE0HY] 190,000 700,000 A510,000
= 95,000
o 95,000
01 Al&H| 190,000 695,590 A505,590
OX oIS RI2EIAIS (D14 HIAHI)
190,000,000& 190,000
= 95,000
o 95,000
Kol AY|(DE AT HALY) 4,166,667 4,166,667 0
= 2,500,000
= 500,000
o 1,166,667
401 Al&HIKEL0HY] 4 .166,667 4,166,667 0
= 2,500,000
= 500,000
o 1,166,667
01 Al&H| 4,155,416 4,155,417 N
O Gx8Z 180l 2 ZHAIE
4,155,416,0002 4,155,416
= 2,500,000
= 500,000
o 1,155,416
03 AIEE20HY] 11,251 11,250 1
O YA N80l 2 ZAAISE AIEE20HH]
4,166,667 ,0002*0.27% 11,251
2DIoIE S X E2=(4TH=242l) 250,000 250,000 0
= 250,000
101 Q124d] 69,034 0 69,034
= 69,034
04 J12tHI2Z2 XS24 69,034 0 69,034
O=Jl6td X222 69,034
O0I=& Q1] 60, 240& *4H x252« 10JHE 60,240
= 60,240
0=201H2 60,240,0002/%4.5% 2,711
= 2,711
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A otEAL D
S ot EH|
chel: Xgsia R (Sl &)
A - B O9(3H) - NIRAR - BaS Ol &b e e
HEEER 60,240,000 *3.035% 1,829
= 1,829
(ONE=aSk=: 1= 60,240,000 *1.3% 784
= 784
0MHEE = 60,240,000 *4.0% 2,410
= 2,410
0D IQRYEE = 1,829,000&*3.275% 60
= 60
OmISHI(=S, ot S) 250,000&*4H 1,000
= 1,000
201 LEt2ZH| 5,300 0 5,300
= 5,300
01 AtR2telt| 2,600 0 2,600
Oget=2t| 2,600
00IFD| = 80,0002 *4CH*52] 1,600
= 1,600
00lIFD| 22 4.,000& *20004 800
= 800
O0lIFDI =Y M) 50,0002 *4H 200
= 200
02 3524l 2,700 0 2,700
OAIZ&EH|l |XId| 2,700
0=Xl2tel xte RFH
150, 000 & 1CH*10JH & 1,500
= 1,500
0BIF)| 2 2 RETY
30,0002 *4CH* 10943 1,200
= 1,200
401 Al&HIZL20HY| 175,666 250,000 AT4,334
= 175,666
01 Al&HI 175,666 250,000 AT4,334
OYSHE 3L BUE  5,000,0002#474 20,000
2 20,000
O=016td KRRISAt 155,666,000 155,666
= 155,666
NLoHE Al EHIAS 1,784,248 704,410 1,079,838
401 Al&HIZL20HY| 1,784,248 704,410 1,079,838
01 AIZH 1,780,000 700,000 1,080,000
Oodtd =22 &AM 500,000,000& 500,000
O~ E2E S22 ZEA 500,000,000& 500,000
OASZ 92|Z ZAAR JI=HE S B
100,000, 000& 100,000
OSEE(HEXIR) otETZHISA
300,000,000& 300,000
O2=d otEEHIZSA 20,000,000 20,000
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SA:

Hu sia A
ool Xigota e (Erel: ®e)
SA - B - S9I(E) - RAY - BaS ol b HIDZS2
O AKX S22 EHISAH 40,000,000 40,000
O-JIIMHl =0tF ZHIZAt 50,000,000 50,000
O=& ZHISAH 40,000,000 40,000
O SAHK - =LZZHISAH 60,000,000 60,000
OEEH(HEXT) St=HHISA
20,000,000& 20,000
OUEA St ZHISA 150,000,000 150,000
03 Al 20 4,248 4,410 A162
OXZotd AMEEHIAE A0
1,180,000,000& 0. 36% 4,248
CefAl7 LeelE EHIA 500,000 0 500,000
& 250,000
= 250,000
AEHIR S0 500,000 0 500,000
& 250,000
= 250,000
01 AlIZHI 500,000 0 500,000
OkclXl7 LEGtAEHIALS 496,400,000 496,400
& 250,000
= 246,400
OkclAl7 LeRtEEIAE AU
500,000,000 +0.72% 3,600
SZHFEHAS KA 192,152 200,000 NT,848
g2 HFHAS NHAE 192,152 200,000 N7,848
401 AlSHIZL 2| 192, 152 200,000 AT7,848
01 AlIZHI 192,152 200,000 N7,848
Og2d FHAS XA 192,152
OtgH, AoHH 192,152,000 192,152
2ot R A2 3,134,500 3,674,410 /539,910
N 940,000
= 2,194,500
A0t |AIZCIAIS 1,254,500 904,410 350,090
401 AIZHIZ R0 1,254,500 904,410 350,090
01 AlIZH| 1,250,000 900,000 350,000
OlHets Aotd ZHISAL 65,000,000& 65,000
Ogs 2ot IHISA 500,000,000& 500,000
OsY 2ot HISA 30,000,000& 30,000
O&ts 2ot HISA 70,000,000 70,000
O=10t 26t ZHISA 200,000,000& 200,000
O7& 2ot ZHISA 100,000,000 100,000
O2&E2d A-otd ZHISA 20,000,000& 20,000
O&D|26Hd ZHISA 45,000,000 45,000
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SA: AL}
&z ot &4l
=2l AStER X2t (2l &)
% (5]
S - ZB - SR(BH) - RA - BES il arod S HimE==!
OGBral A6t ZBISA 20,000,000& 20,000
OsAotd HBISA 100,000,000& 100,000
OZleliotd HBISA 100,000,000 100,000
03 Al&=0Hd| 4,500 4,410 90
O2otEEHIAFY AIE 20|
1,250,000,000&+0.36% 4,500
AR LA ASE™UIAIG (B ) 1,240,000 360,000 880,000
Xl 620,000
= 620,000
401 AlEHILSOHY] 1,240,000 360,000 880,000
Xl 620,000
= 620,000
01 Al&HI 1,235,536 357,408 878,128
OWE AotEEBISA 1,235,536,000& 1,235,536
Xl 620,000
= 615,536
03 Al&=0Hd| 4,464 2,592 1,872
OAl4 SCHY| 1,240,000,000& * 0.36% 4,464
At2l Aot EHIA 320,000 0 320,000
Xl 160,000
= 160,000
401 AlEHILSOHY] 320,000 0 320,000
Xl 160,000
= 160,000
01 Al&HI 317,696 0 317,696
OAtelAote HBISA 317,696 ,000& 317,696
Xl 160,000
= 157,696
03 Al&=0Hd| 2,304 0 2,304
OAr2lAoHE EHISAE AIER0HYI
320,000,000&*0.72% 2,304
SEAGHE FHIAY 320,000 0 320,000
Xl 160,000
= 160,000
401 AlEHILSOHY] 320,000 0 320,000
Xl 160,000
= 160,000
01 Al&HI 320,000 0 320,000
OYELore EBIAY 317,696 ,000& 317,696
Xl 160,000
= 157,696
OYEA0tE HHIAIY AIE20Y|
320,000,000&*0.72% 2,304
StER X2t 402,880 503,600 A100,720
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SA: QHERAMY
X XH -
[ R
ol

HEE

S - B - S9I(3IH) - BaS il &bt g ool HmE=
HEIMSHHA 402,880 503,600 A100,720
401 AISHIL=CHY| 402,880 503,600 A100,720
o1 Al 400,000 500,000 100,000
OFHBHHEI NS TN AR (R SD)
250,000,002 250,000
OFHOHHRAIES 160,000, 0002 160,000
03 A& =CHH] 2,880 3,600 AT20
ORXIZ2IAL | 400,000,00024+0.72% 2,880
oI ALY 2,778,504 7,808,519 4,969,985
= 850,000
X 4,260,000
< 968, 100
2 6,700,404
2 BHEHIALS 2,557,357 3,393,363 836,006
X 1,320,000
< 35,100
2 902,257
EPIEEIJNEEE 20,367 103,363 16.904
01 1214 16.870 12,426 4,444
0 IRIHEERSE S 16.870 12,426 4,444
Ot 22| JRIH22R 16.870
WEENE 60,24024+191+402 2,410
OB 60,24024+191+402 2,410
W ENE 60,24024+191+402 2,410
W 60,24024+191+402 2,410
VR 60,24024+191+402 2,410
0BHX 7 60,24024+191x402 2,410
03+31(MES) I 7 60,24024+191+402 2,410
201 Ler2h| 89,41 75,787 13,630
01 AR a2H] 1.367 50,677 11,620
Ogetgt| 69,447
OsArEYEIEY 4 11,007
044E 20,300214903 10.827
0 Xh2) 2,000214903 180
0BT FDIOHEB 27,600
0 BHEXIT 300,0002+62 1,800
oMEXIP 1,300, 000246 7,800
oHE2XIT 800, 00024462 4,800
o WIX|T 800, 0002462 4,800
0 4FXIT 800, 00024462 4,800
0 RIXIT 300,0002+62 1,800
0 B (MEH) XI 7 300,0002+62 1,800
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SA:

HE: =e)|BEHlAlY
ciol: Ze(EIEHIA (22l &)
SA - B - SREH) - HRMY - BYS Oty des SfinE=ct
N ESSRERI=TE 21800
0gHE T 260, 00081+ 128! 3,120
0 HEXT 260, 00021+ 128 3,120
o M X7 260, 00021+ 128 3,120
0 =77 260, 00021+ 128! 3,120
o AETIT 260, 00081+ 128 3,120
o BETIT 260, 00081+ 128 3,120
0 31 (MEN T 260, 00081+ 128! 3,120
0FYRIMATE U I SVAAE
300, 00021 <30 9,000
OSZHI(SLIIHSDET)  8,0002:3014804] 1,920
0 222 18,050 16,110 1,940
ozzR3 2 WA 12,600
ESE BI-E! 12,600
0gHE TR 110,0002146% 660
0 HEX7 60000021462 3,600
o M= X7 330,00021+62 1,980
0 =77 330,00021462 1,980
o AETIT 330,00021462 1,980
o BETIT 200, 000216 1,200
0 31 (MEN T 200, 000216 1,200
OV F=F=4s1E=IN]s] 5,450
OBIHCHRIZ 20| H| 70,00021550 3,850
04T XPDIZED| RXZRI(RE)
1, 600214200 £ 557H 1,600
202 O] 4,320 5,400 A 1,080
IET] 4,320 5,400 A 1,080
OOHI(SSIIBIRIA)  120,00081:300 122 4,320
105 TS| 9,750 9,750 0
01 HULSEHSH] 9,750 9,750 0
ORISR o4)| 1 650, 0002+ 10T 6,500
OsasA T 6, 500214500 3,250
PO RTINS 600,000 700,000 100,000
c 180,000
= 420,000
101 AEHIRL =T 600,000 700,000 100,000
c 180,000
= 420,000
01 AI&H| 600,000 700,000 100,000
OMZ SIEXIT 842 SHIZAHL=500m)
200,000, 0008 200,000
c 60,000
= 140,000
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2A:
PSER
o e

o
el

Ofl &kl

U
Ofl &kl

i

M H

15,400

22,000

6,600
15,400

HH =

200,000

160,000
12,000
28,000

200,000

401 AIEHIZL 20

H A

200,000

160,000
12,000
28,000

200,000

01 Al&d

Odzx= IEX7 A2l AEE+
200,000,000

HH =

200,000

200,000
160,000
12,000
28,000

200,000

SYIIBHEH(RESX ) -AlZ el ZH e

H A

150,000

120,000
9,000
21,000

401 AIEHIZL 20

H A

150,000

120,000
9,000
21,000

Odzx IE=XF AlZ=clAIEh2+
150,000,000&

H A

150,000

150,000
120,000
9,000
21,000

SIIBHEHI(MEXIR)-AlZ el AIZIHE 4

H A

100,000

80,000
6,000
14,000

HH =

100,000

80,000
6,000
14,000

O
0

Mz MBI AlZelAENE S
100,000,000

H A

100,000

100,000
80,000
6,000
14,000

SIIBHEEH(AEXIR)-AlZ el AIZIHE 4

200,000

200,000
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2A:
PSER
o e

o
el

SA - ZH - E2I(3I) - IRAR - BaS

Ofl &kl

U
Ofl &kl

A

160,000
12,000
28,000

401 AIEHIZL 20

H A

200,000

160,000
12,000
28,000

200,000

01 Al

Oty A8X7 AlZsclAIEEs
200,000,000&

HH =

200,000

200,000
160,000
12,000
28,000

200,000

SI1BHEEHI(AO0IXI)-AlZ a2l AIZIHE 4=

H A

200,000

160,000
12,000
28,000

200,000

HH =

200,000

160,000
12,000
28,000

200,000

0
z N
_'O_
b

OIXI72 AlZ2==clAIEIHE =
200,000,000

H A

200,000

200,000
160,000
12,000
28,000

200,000

S BHEHI(SEDHXIT)-AlZ2 =l AIEIHE =

HH =

250,000

200,000
15,000
35,000

250,000

401 AIEHIZL 20

HH =

250,000

200,000
15,000
35,000

250,000

01 Al

OsA IENKF A2l &2+
250,000,000&

H A

250,000

250,000
200,000
15,000
35,000

250,000

SIIBHEHI(ROIXITR)-AlZ sl AIZIHE 4=

HH =

200,000

160,000
12,000
28,000

200,000

401 AIEHIZL 20

=

i

200,000

160,000
12,000

200,000
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FA AL
I3 =90
el =2

A - B O9(3H) - NIRAR - BaS Ol &b e e

i

28,000

01 Al<Hl 200,000 0 200,000
Od= K7 AlZs=clAIEE
200,000,000 200,000

160,000
12,000
28,000

HH =

SIIBHEHI (M=) -AlZs=el Al &I 24 150,000 0 150,000

120,000
9,000
21,000

H A

401 AIEHIZL 20 150,000 0 150,000

120,000
9,000
21,000

H A

01 Al 150,000 0 150,000
Od= M=X7 AlZ==clAIEh2+
150,000,000 150,000

120,000

9,000
21,000

H A

@

==

FEHI(BHHEXI7)-Al2el Al ZIHE 200,000 0 200,000

160,000
12,000
28,000

r

HH =

401 AIEHIZL 20 200,000 0 200,000

160,000
12,000
28,000

HH =

01 AIZH 200,000 0 200,000
02 SHSKT AlRSelAlaI 24
200,000, 0002 200,000

160,000

12,000
28,000

o

H A

LBt ZEINLAL 4,000,000 984,000 3,016,000

2,940,000
378,000
682,000

SRS

J|Z=MEQITRHO| WA R)-A 280 2,400,000 0 2,400,000

1,750,000
225,000
425,000

SP=!

401 AIEHIZL 20 2,400,000 0 2,400,000

1,750,000
225,000
425,000

SR=!

01 Al 2,393,520 0 2,393,520
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SA:

I SYISEHIAME
CHRl: UBHSEIN ALY (Sr9): &)
% - (5]
SA - HH - S9I(3H) - MIRAY - BES Ol S HIDS
OO0l W7 A2 S IHEAH
2,393,520,000& 2,393,520
N 1,750,000
& 225,000
= 418,520
03 Al& 20 6,480 0 6,480
OATESHEAE AIEFUEI
2,400,000,000&*0.27% 6,480
I =S TS LR ) DI H S B A2 L E 1,600,000 0 1,600,000
N 1,190,000
& 163,000
= 257,000
401 AIZHIZ R0 1,600,000 0 1,600,000
N 1,190,000
& 163,000
= 257,000
01 Al&HI 1,594,240 0 1,594,240
OAF IS BHZZ L HSAL
1,594,240,000& 1,594,240
N 1,190,000
& 163,000
= 251,240
03 Al 20 5,760 0 5,760
O A B ZE T EBAL AISSHY]
1,600,000,000& 0. 36% 5,760
SI|BAIE FRIZCIA 2,430,500 828,000 1,602,500
= 850,000
& 255,000
= 1,325,500
T2e| eelAIER A=A 210,500 210,500 0
401 AIZHIZ R0 210,500 210,500 0
01 Al&HI 210,500 210,500 0
OzZ&el Ml ESHE HMAAL
300,000 1851 2+ 12] 55,500
Ozl Sti+=2 E=S MAHAY
10,000,000 1102 110,000
Oz 22| elAE (X=X, 2E) |2l
15,000,000 *34 2 45,000
FEALFA HE+SA 100,000 100,000 0
401 AIZHIZ R0 100,000 100,000 0
01 Al&HI 100,000 100,000 0
ORIEALFA HEFSAL 50,000,000 *2JH 2 100,000
SEEM=L HEEH 30,000 50,000 A20,000
401 AIZHIZ R0 30,000 50,000 /20,000
01 Al&HI 30,000 50,000 /20,000
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M erdAS
M SAHIBHEHIAIS
©2l: sHIIBIAIE |2l Ar (el &)
= = L=
SH - BB S2I(3) - KIRA - BE= Oil b e HmE=
ORZA 218 odaEs o ZuorEacy|
10,000,000 *3IH 2 30,000
SAt2te] el AIE S X2l At 390,000 290,000 100,000
403 RHXIHXISAH=20|& 390,000 290,000 100,000
02 SII2S0ICHEtAI=E /AEFAL I 390,000 290,000 100,000
0L A=H HI U A2 DHI(14],1=15
Om) 100,000,000& 100,000
O&Hs XHEH =206 JiD1 &B1(L=100m)
30,000,000 30,000
OLHe L 822 S B4(L=30m)
15,000,000& 15,000
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o= 3,900
o 9,100
201 LBH2AL| 13,000 15,500 22,500
o= 3,900
o 9,100
01 AtR2telt| 13,000 15,500 22,500
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